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Find a pattern for each sequence. Describe the pattern and use it to show the next two terms. Q
1.5,7,14,16,32, ... 2,24,12,6, .. 1. %LT’ . (0%
YRR -2 :

2, ?D} 3/’2-

Find a counterexample to show that each conjecture is false.

: N7
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Rewrite each sentence as a conditional statement. M1 N D
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Identify the hypothesis and conclusion of the statement.

7. If you want to be healthy, then you should eat vegetables. 7. H: \!lﬁu u)ad( &y he \:\rza('U&k
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8. If you go to Ridgeline, then you live in Millville. B. H: \[;nu .;,'ga des er*fga[ 14,2,
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Use the following statement for questions 9-12. Determine the truth value of each statement. If the
statement is false, write a counterexample.

if an angle measures 80°, then it is acute.
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10. Wﬁte the converse and determine its truth value.  10. .IQ' an qnaﬂM, 15 (2(‘;}}& Lho oo
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11. Write the inverse and d_etermine its truth value. 11, 1& a.n /?,:»1.9/{4 Bt woasSuc %4)01
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12. Write the contrapositive and determine its truth value, 132, I_Q—-aﬂ QWFM s Y*(’J’si" ﬁf',f;{,!ﬁ?, Hagan
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Determine whether each statement is a good definition. If not, explain.

13. An octagon is a polygon that has exactly 8 sides. 13, @OO C{/

14. Parallel lines have no points of intersection. 14. A)O : Loadd (ﬂ bﬁ C_;)}'ﬁf@@({

15. Write the following definition as a biconditional.

Complementary angles have a sum of 90 degrees. 15, AV\CAQS M 933 nfﬂzmz'm/vl IQQM
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16. Write the following biconditional as two statements, a co ndmonaof{gntd QS converse

x? =16ifandonlyifx =4 orx = —4,

16 TN \‘z?';!(g Hnon y_(-;"-f ﬁrX‘:”q
2

Pyt oY erxz-Y Mg Y. -""/(_ﬂ

Use the Law of Detachment to make a conclusion.

17. If a whole number ends with a 0, then it is divisible by 10.
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If heris-divisible-by-20- ther-it-is-divisible-by-5.
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Use the law of Syllogism to make a conclusion.
19. If two angles are vertical, then they are congruent.
If two angles are congruent, then their measures are equal.

20. If you play lacrosse, then you are on the team.

If you are on the team, then you are a varsity athlete.
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